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Answer three questions in total.
Section A
One or two of your three chosen questions must be from this section.

“Rising incomes in China have caused retailers of domestically produced luxury
goods and services to struggle to win a share of consumer’s wallets, resulting in
rash proposals for expansions through the opening of new outlets.”

Adapted from Economist, Aug 3" 2006
Discuss the relevance of price elasticity of demand, income elasticity of demand,
cross elasticity of demand and price elasticity of supply in explaining the effects of

the above-mentioned situation in the market for China-made luxury goods and
services.

US confectionery Mars receives the all clear from the European Commission to buy
Number One chewing gum maker Wrigley in a deal worth €15 billion. Their
competitors are concerned whether this would give Wrigley an unfair advantage
over them.

Explain clearly the price and output decisions of confectionery producers in Europe.

Discuss the likely economic effects of this merger on society.

Why must public goods be provided by the government?
Is it justifiable for the government to provide goods that are not classified as public
goods?
Section B

One or two of your three chosen questions must be from this section.
Explain what is meant by the equilibrium level of national income.
Reductions in the top tier personal income tax rate from 21% to 20% and in the
corporate tax rate from 20% to 18% have made Singapore one of the countries with
the lowest tax rates in the world.
Discuss the impact of the reduction in personal and corporate tax rates on the
equilibrium level of national income of Singapore.

Explain why Singapore trades with both developed as well as developing countries.

Comment on the impact of globalisation on developed and developing countries.

China faces imminent overheating of the economy with rapidly rising growth of fixed
asset investment and borrowing.

Explain why “rapidly rising growth of fixed asset investment and borrowing” may
lead to overheating of the economy.

Evaluate the options open to the Chinese government in trying to bring about
sustained economic growth.
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